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AT ALENRNTAY A N4 - FORNAUSTUDRNT 1

A. 92 \'J+-.. +k B.OV3v+k  C A Gre
0\ 3+x*+ E. 1/9 {3+x* + k. ;

I. (3H3)dx  A.33TI2 BU336712 €355/

3366/12 E. 1337/12

18. (1 : I)d\

A Sf’g B.10/9 C.17/9 D.-5/18 E. 16/9

19. [(V2cosx + sec’x)dx A. N2 B 'C=2" D Ej

20. Only one of the following equations represents a r:m:lé
A X +2y +2x+3y +7=0 B.3x#3y+xy+2=0
C.2x+4y-10 +x+y’'=0 D.xX'+y +xy '
ExX'-y+x+y=3.

21.  Name the conics whose equation is X'~ 4y’ +2x -16y =2
and its center. A. Circle centre (0,.0) B. Hyperbola,
centre (-1,2) C. Parabola, centre (-1,-2) D. Ellipse,
centre (2.-1) E. Hyperbola, centre (-1, -2)

22.  Given f{x) =x"- 6x" + 9x+2, the values of x for which
f(x) has turning points and nature of these turning points
are A, Imax, 3max B. Imax, 3min C. Imin, 3max

17.

D. Imin, smin  E, -Imax, Smin. .
Assume that infected area of an injury is circular Tﬁ
radius of the infected arca is 3mm and growing at rate of
Imm/hr , at what rate is the infected area increasilj:g_?-f
A.6mmm/hr  B. 3rmm/hr  C. xmm/hr  D. None
E. 2rmm/hr. !

-50-
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D mo 9 E. none.
Evaluate [sin dxcos2vde A 'A( - cosbx\ + C
6

B. ( +cum)+c: s %(m--unﬁ-)+c
2 6 /
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= Upper limit - Lower limit
=3’+3(3)48(3) - 1’+
s 3(1) +8(1) = 665q. units => B

Observe (y-1)* - (x - 4y =1 |
o (1)
But (y-k) - (x-h)* =1

S

a
Comparing €quatn (l) and (2) , we have n =9 ==ga=3
andb’=4,=>b=2 c-;_. THE - o |
4)
OR (Iﬂi;s--aaﬂc

-
. :-"'

= Y\
"' ‘ - "'—-»--—:- --g

--'-l- oL

R ....L.fi*u ,.LjfLai'l”“lr 1(‘”‘3,,?“_. eaning x

e
hl
I
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AT ELEVETART A HENATIS I AOR AU UM

Nnamdi Azikiwe University, Awka.

——H

Department Of Mathematics, Faculty of Physical Sciences, Uizik,
Awka. Second Semester Examination, 2012/2013 Session:

MAT 102 : Elementary Mathematics 1I: Time: 2hrs Date: 22/01/2014-

INSTRUCTIONS: (1). Wrire your name(s) in capital letters (No abbrevigy;, ons)
»

registration number, department and sign your signature v ithout mutilation oy

cancellation) on the spaces provided (failure to adhere to this attracts ng resulr)

(2). shade the right option in the boxes provided below with BIRO (double shading

and murnlations atiract zero mark).

NAME(S) cooovevesvresessessssssessoo REG NUMBER.........ooooooooooooooo
DEPARTMENT ....oooorosoorooo SIGNATURE oo

i [AlB[c]D[E[ 11 [alB] D] E] 21 [AIBICIDIE
2 [A[B|C|D|E [ 12[A| B[ C| D[ E| 22| A[BIC[D[E
3 [A|B|C|D|E[13|A[B| C|D| E| 23| AlB[C|DIE
4 |A|B|C|D[E| 14| A B[ C|D| E| 24| A|B|C|DIE
A|B|CID|E|15]A|B|C |[D]| E| 25| A|B|C|D|E
B|C|D|E[16[A[B [C D[ E| 26| AlB|CIDIE
[CID[E[17]A[B [C [D] E[ 27 A[B[CID[E
DIE[18[A[B[C [D| E| 28| A|B|CIDIE
TE19[A[B [C D] E[20] AlB[CID[E

20|A[B|C |D|[&]|30(A|B|C|D|IE
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Working: —

By definino s
Y 1on, the Domain of a function is the departure set while the

Range on th
£4 e other band are those elements in the codomain that
have a corr -
espondence with those elements in the domain thus
= ]

from the given function {(1,2), (3,5)(-1,17), (5. -3)} we have

Codomain

therefore, from the above the; Domain = {1, 3, -1, 5} while the
Range = Codomain {2, 5,17, -3} . thus, the correct option 1s B
Working:

Option B is correct, this is so because if we subsutute -7 into
fix)=y =yx-7 , it will make the function to become undefined.
thus, the correct option is B

Working:

Observe xy = 1

First, we make x the subject ; i.e x= _1:.7

Next, we find the value of y that will make the furiction undefined

and exclude it. For x = == to be undefined, y must be equal to zero.

Y
lLex = —é— = undefined.

Hence, the implied range 1s R\ [0]. 1.¢ all real numbers except 0

({ yeR\y # 0}) . thus, the correct option 1s B

: -79-

™ - _ = [



L )OWNIoOAad rmore 1irorm rLearnciax.co



L J)OWNIoOAad rmore 1irorm Learnciax.co



L )OWNIoOAad rmore 1irorm Learnciax.co



L )OWNIoOAad rmore 1rorm Learnciax.co



L )OWNIoOAad rmore 1irorm rLearnciax.co



NA ME (S) bk b L 4L LT SR
DEPARTMENT.....

e REG NUMBER.__
..... o SIGNATURE

L ST T

g SE—

INSTRUCTIONS:

(1). Write your nam
. strillui n“m;e:{’} In capital letters (No abbreviations),

e » department and sign y
tilation or cancellation) on the :pm:f p:::;ag?;:“::::m“'

Mniwhich of the following sets of ordered pairs is a function
. ﬁﬁml =0} b. {(x,yVy-6042 = 0} e {(xyVy=2")
d. {(xy)x'+y'>0
1 }" I-x and g(x) = X (xw-1) Then for real values of x,
- a+l
A 1 biatl cx d -
B 14
Urve y = 2+ + 2, has a horizontal asymptote at
s vt
(™.l by=4 cy=2 dy=05
__:I_-‘.:"_.I;I]I}_"_r.r' : -“m.-,-ﬂ Al a0 b1 e | d oundefined
| : A=l 12 3
~ The slope of the line through the points (3,4) and (5,3) is
a.-1 b -05 c | d undefined
The curve y = 2v-1+ 2 has a vertical symptote at a, x =2
x-2
b.x=-1 c.y=1 dx=I
The equation of the tangent line to the curve y = }T atx=-1

X

N5 -

NA \nra fronm | aa¥nela
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Working: Given 0y -4y’ +3ﬁr+ﬂ}-l-4
Rearrange, 9v'+3 x4y +3_-,. =4

¥, we have 9(¢’ Hﬁ{!}] 4[3*2-2)%(
9(x+2)’ - ~4(y-1)’ =36 ‘Divide thruu

(r+2}
4

"-—.qp *1__—-—-

ALY ”_ ﬁ.ﬁ? -n.... 1€ mmﬂmu. x
RS k‘gl_ ‘___Ii_'d; '.1 Ih'- wl .::

tion (1) ar 1d (2) ¢ have Centre =
f centry ?_'Ll;'"f?-*
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i INIES
therefore, A=]m-y.m-.- =[(x-2)ax -F s h]:
-1 gl TR

=[2'-2'-22) ‘[;ll' - (=)' - 2(-1)|= -9 =-4%sq units
3L 2 3 2 2

Area is +ve, .0 A= 4% sq units. Option A Is Correct.
25D  Working: | : -
Lety = (2¢-1)(5x"+7) ; Expanding, y = 10x'+9x'-7
¥ thus, dyldc = 60¢-27x' = I QU9)=>D ¥ 5
fol Hin =T HoriGmd B
T P B " (2an "i)
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il
*

' .1 sveRjy e k2) w1y
1A ll’?"'l'ﬂ'"”: rt.T) =y.d & g{x} da \G::i.
For ¥x-1 , for this to exist, x-1 > o '

Hence, the domain of [+ gi

Vs, (4 g ey 4 T e
herefore, x » |
S{xER|x21) == A

4.8 Working: ((x) =x* + 1 | g(x) = V577 - fog = f(g(x)) = [‘?f i i
thus, fog = x -2 +1 = x . | This function is defined at all vilues of x
therefore, Domain of the composite function, fogis R == 13

513 Working: Observe Lim 3y + 9 y AL "

x=-3 wehave -3(-3)+ 9
X=-3 ¥ _ 0 ¢ —LI—-

. (3)-9
= 0 = Indeterminate, Applying L'Hopitals rule, we have
0

Lim 3 = 3 = 3 = =1 =>(B)
X=>-3 2y 2(-3) -6 2

6.C Working: Lim  Siny = Sin0 = 0 (Indeterminate)
x>0 Ty DTS |

Applying.L’-Hi::pitd'l-.mlf‘e@;@iﬁg{g@ﬁﬁﬁg, ‘
bW r.ﬁ—

orking: on of the 2 lines is obtained by
- solving the 2. : .

e et o S TN - g
AL E Tt L









JOPECENENTARYAA THEMATICS 11208 AU STUDEWT r
Al point (- » We use the equation ot a line and apmm'-=- —a
Y-y, = m(x-x,) ,3"2'--9 (x+2) | dy-8=-9x-18

4
4y +9x - S+IE'=D Hence, Ay +9%x+10=0=>E
Working: X'y + y'x + dx =1 . ; Implicit dlll'emnl:a’tmn gives
J.dyfdx+1xy+:."+2.rydyfdx+4=ﬂ L
xdylde+ 2rydylde =2ty - y' -4 dy = 2uy-y-¢
de '+1q.|
Putlmg{l 1), dy- 2(1)(1) - 1°- 4 -_.1 1-4=-7 -u-n
dr 17+ 2(1)(1) 1+2. .3 40
A m-' llf’ﬂrkmg. Observe y = cot’’ ; Letu= ' ; +|iu.|!'tl.:r-34.tF
= u,.-' dyfdu--a:mu:u Itulu
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T I ELENENTIR X DYEACRTICS [1-08 MU STUDENT
"n‘.'ulmll Arikiwe University, Awka.

Department of Mathematios, Faculty of Physical Sclences, Uni
Awka Second Semester Examination, 20152016 Session:

M.t'l‘ m- l:hmunnry Mnlhm-ﬂu 1I: Time: Ihm
DE A RTM ENT.. mﬁm

Instruction: Answer All Quuthlr

- N = Namrl numbers. ot Bl
: - e—

(1) P
N
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o ',ﬁ;;‘ll,}__.hﬂh'l‘ MADEEMALILY [ 0% NA “UL‘J;LH
Pl ; y
# pe cqual to zero. Generally, for any pojng inside a circle, the

sesult (outcom ©) ol be equal to zero, when the given po
arc inserted into the circle equation. Option E js Cnrrtf::}mts

B Herking: By formula, the equation of a circle with centre
i (a,b) and radius, r is given by (x - a) +(y - by = ¢
From the question, a=.3,y=5 r=¢ Lo (eH3) + (y-5) = ¢
Expanding, we have x* + 6x +9 +y* - 10y +25-36=0
Xty +6x-10y-2=0=>E
16.B Working: The standard form (canonical form) of an ellipse
- when the centre coordinate 1s at the origin, is written as
ﬁ+y_: =1; Forx’ + 4y’ = 100, we divide through by 100
a b
toget x +y=1=B
- 100 25
7D Working: Observe y = (' + 1)’ - 4(x' + 1) + 5(' + 1) +2
~ thus, dy = BT x 2x] - [(4x2)(x"+1)" x 2)

[5G x 2x] + 0 = 6x[F+1] - 16x[x+1] + 10x

B L _

Atx=1;dy=[6(1)(()' +1)'] - [16(1)((1)" + D] +10(1)

.

-

= i T ‘é_;ﬁe _= : + = 2 L2 D

'}gj_, g?fnr vertical asymptote, the value ofy tends to be

o finity. Now, from the cquation, f(x) = x-2
> o= b =

, 2x +

T 2x+3 y

Now, weputy = ;ie2x+3=

Lad

x-2=0;x=3 =>C
00 2

35 ". s . l-x_l
Working: Observe Lim -z
Fil | T2 s e u *‘m x :
L A = () = Indetcrminate
B e it =0 ic e-0-1=0
3L, IWE put x =1 5 —T 0
¥ _
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MATEMATES | H0RAAL DB

i.c slope =m, =2 For perpendicularity, m,m, = -1
—>m= L=l

ns 2
Equation of the required linc is y - y, = my(x - x,)
Where x, = -2 y, = 3 at the point (-2, 3)
thus,y-3=-Y(x-(-2)): 21 2y +x-4=0=>C

This 1s a repeated Question. Goto Q12 (2015) session for
solution. (Get Serious).

Working: ]x'.'lmlr ; Apply ludv =4y - [vdu — (1)

Now, we let u = Inx and dv = Xdx
ic du = 1 ;=>du= 1dv and [dv=|vdx

x
ﬁm.m-@ :

a4
o, L t s &Y
,~..". .-';l;-"

- |
I R (Ut TR
g Y < | S

i 11 B
=l i i__"u. - -'__'I' i
9

L3
substituting into equation (1) we have = A
N i ) .
i I F3 . - L n > 1 " . =
i T e -!|-1_-.: | ¥ .
IPI-' g . Dl '_d;
i 1
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